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6. Let X be the recorded temperature, then 
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8. Let X be a female cat's weight, in kilograms, then 
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b. 0.5 standard deviations above the mean is 4.1 + 0.5(0.6) = 4.4 kilograms. Then 
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. Note that the probability of being more than one-half standard deviation above average for ANY normally distributed random variable is 0.3085.
c. Let 
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, which tells us that the 80th percentile of any normal distribution begins 0.84 standard deviations above the mean, or at 4.1 + 0.84(0.6) = 4.6 kilograms for female cat's weight. 
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e. Let Y be the number (out of the six) over 4.5 kilograms. Then 
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14. Let X be the diameter. Then 
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c. 99% of a normal distribution occurs on the interval 
[image: image20.wmf]..

z

-<<

25752575

 (look at the table to verify this). Therefore, we want to find  such that 
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0.005. Solving for , we find  
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 0.0019.
Handout
1. Let X be the length of a component. Then 
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. If T is the total length of the assembly. Then 
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. The assembly will fit if 
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 , which happens with probability  
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2. Let L be the length of a slot. Then 
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 . Finally, if D is the difference between the length of the slot and the length of the assembly, then 
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. The assembly will fit when D > 0, which happens with probability 
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